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2022 FFEHEAXRERMAFI—HMIDONT

712BAXE FTEBEFOE

732 HAE —iRBFDE

742 BXRE S —BELFDE

76 BARITE . 36 ~40% EERT72keitB
772BEREE MiFE~45 BEMT72keLTF
78EHARNLE 4% ~45% E=R72keiB
S8OZ HAITHE . 46K ~50% E=h72keitB
812 HARITE/ 51H~ BEM72kegLT
822 HARIE 51~ E=HHh72keitE
832 HALXF.—55kg

842 HALF.+55kg

852 HAV A BE=H# —65ke

86 HARVTA M hEHK—75ke
872HAR VA B E=Hk—85ke
88EHAVIA K. EE#H+85ke

568LFE HNE hgi£(BLESR)
S52FMER thE A BT

53FVER thBELF

SAFVER SREBF

55508 ERELXF

28FVEMF 1 FEBFES R (45kg LTF)
2905V FMF P E1EBFE SR (45keiB)
SOFVEMF 1 ELFES R (45kg L)
B1FVEHRF D1 FELFEEH (45kgitB)
2FVEMF HF2FBFES MR (50kg LTF)
SBFLVFMF HhFE2EBFE = (50kgiE)
MAFLVEMF hF2ELFREM(B0kgAT)
IGFVEMRF DF2FEFEEH (50kgHB)
B6FLVEMF HEIFEBFEEM(55kgAT)
37TELVEMF D FEIFBRFEEM(55kgiB)
ISEVEMF hEIFELXFEEMH(50kgLT)
FOFNVEMF PEIFELFESHH (50kgiHB)
A0FVEMF ER1IEBFEER(60kgAT)
AAFVERF SR 2EBFEEH(65kgAT)
ASELVEMRF SR2EBEFEEHK (65kgiE)
49FVEHTF ERIFEBRFEEM(65kgiB)
5080 FHMF BRSELFEEMR (55kgAT)

TJOFVER "B INadx (BLES
66FVER INESEBRTF

675 /VER INESELTF

68FVER INFEERTF

6OFVER INFCELRTF
£d~-’¢%ﬂ$/11\+5¢%%$§§%&(35kgu1=>
sEDEME/INESERFEER (35keiB)
E/J‘E%ﬂ$/ll\%5¢#¥$§§%&(35kglal'F)
TELVEMRF INFSELTFEE M (35keiR)
Ed\i‘p%ﬂ%E//J\%GE%?EéE%&(40kguT)
OFLEMF INEERFEE MK (40keiB)
Ed*ﬁ%ﬂiﬁ/dx;&?tﬁ%i%&(40kgu‘F)
21FVEMF/INECELFEE R (40kgiB)

S58FVER INF1FEBRF

S59FVER S INF1ELF

6OFVER INF2EE

G2FLVER INFIERTF

6I3FVER INEIFELF

CAFVER INFAFERF

65FVER INRATFELF
15058 F 9E(BLES
AFVEHF A INE2ERF
65 VEMF INEIFEBEFESM(30kg L)
TEVERF NEIEBFEE=HH (30kgiE)
E”‘E‘fﬂ%/ll\%sﬁtc??i%&(30kgkl'F)

OFAVEFEMF NFAFEBFES R (33kgLT)

MELVEMRF INEAFEBFESHR (33kgiB)

22V0FE\F N1 EFAB(BLES /THRLUT)

BEVEMRF INE2EHFAE(BLES A/ THRUT)

247V EMFINEIEFANEK (BLES A THRLUT)

25FVEMF INRAFEFAE (BLREES /THRUT)

268 VEMF INESEFAE (BLES A THREUT)



